
PO 
14.11. 

400lib; 3x(50n+50pa+50s); 4x25k scul.; 3x100k/lib/k 
tempo; 150 vyp. 
3x(10x50!!!)1.zp+50vyp 
400tech pl 
3x(10x25!!!)1.zp+50vyp 
4x100n(75max+25vyp) 
4x100(50!!!start+25!!!start+20vyp) 
Vypl. 
 
 
 
5,5 120´ 

400lib; 6x100pl(25uw+25nz);6x50(25cv+25s)4xpz+2xK; 
4x25K tempo 200vyp 
6x100pa 1./pz s.1:45 
6x100 1./pz s.1:30 
800 1.(100n+100S) 
3x100k/lib/1. 
100vyp 
1000N(100!!+50stř.) 
300vyp 
 
 
5,1 120´ 

ÚT 
15.11. 

400(100n+100pa)lib;400k šn pl tech;200lib cv;4x50k 
s.45“;200vyp 
100+200+300+400 k i 1´ 
100+200+300 k i1´ 
100+200 k i1´ 
100k max 
600tech(150rpnd+150kšn) 
4x200n(150+50;100+100;50+150;4x50!!!) 
4x100 1.zp(75+25;50+50;25+75;100!!!) 
500tech pac lib 
100vyp 
 
5,7 120´ 

400lib;4x50kn+4x50kpa+200kdech;400pzpa/no; 
4x50k tempo;200vyp 
8x100k test s.1:30 
200vyp 
600pl(200dvl+200dnz+200dcv) 
8x50(25uw+25vyp) 100vyp 
2x(4x100pz 1:45+4x50pz 1+50vyp) 
100vyp 
 
 
 
 
5,7 120´ 

ST 
16.11. 

400lib;4x75pzcv;4x75nšn;4x75ktech;200vyp 
4x(4x100!!! 2´+200tech pl)1-3k;2-4 1.zp 
4x200pzn 100vyp 
4x100k 1:20 
4x75k 1“ 
4x50k 45“ 
4x25k 25“ 
200vyp 
 
 
 
5,0 120´ 

VOLNO 

ČT 
17.11. 

400lib;3x(100n+100tech)lib;4x75pz(50n+25s,25s+50n); 
4x50k 45“;150vyp 
2x(10x75 1-4 zrych.,5 vyp) k/1. 50vyp 
100vyp 
2x(10x50 ---------!!-------) k/1. 50vyp 
100vyp 
600lib(200s+200pa+200cv) 
4x(4x25 posil+50vyp) 
400(200s+100pa+100cv) 
200vyp 
 
5,5 120´ 
 

400lib;3x(100rpnd+100dcv);400pašn;8x25npl;8x25kpl 
25“;200vyp 
8x50 1.zp 2´ 
4x100lib tech 
4x(25!!! +25vyp) 1. 
100vyp 
400kpl šn 
2x(4x75n(50!!!+25stř) 1.  100vyp 
18x100k 1:30 
100vyp 
 
5,7 120´ 



PÁ 
18.11. 

400lib;8x100pz;200palib;8x25pz 30“;200vyp 
10x150(2xk,2x1.,1xlib) 
50vyp 
10x100n pz 
50vyp 
5x200(150s+50cv)lib 
2x(3x50pl šn)d n 
200vyp 
 
 
 
5,9 120´ 

400lib;8x25scull;400n/pa lib;4x50k 45“;200vyp 
3x(3x100!!!)1./2./1. Mezi 100vyp 
3x100kšn 
3x(3x50!!!----!!----) mezi 100vyp 
1000pl(200kcv+200libn+400ktech+200pzcv) 
3x200pz pos. (150+50) 
150vyp 
 
 
 
 
5,4 120´ 
 

SO  
19.1. 

400lib;3x(100pa+100n)z/p/k;4x50pzcv;4x50papz; 
4x50ktech;200vyp 
4x100(50!!!+10“+25!!!+25vyp) 1. 100vyp 
400pl šn lib 
800vláček k 
100vyp 
4x100(50tech+start+25!!!)1. 100vyp 
10x50ktech 50“ 
2x(3x100pl n) zrych. 1. 
200 štaf. 
 
 
5,5 120´ 

 

   

 


